17.2

Buffers
How do they Resist Drastic pH Change - A Summary

1 DBurrer: Bufer Ocid r»  AuBer Noce
| T
0 Neok Arid 9% [cnxusoke Tose

T

2. MHow does 0 fuffer Resist droshic pH chomges when Y comes im eonloct -~ Ha0'or OW°
o) Hi0* : H30" + Buffer Bose = WaO@) * Bolfea Gaid,
L) oM ON” + BuBer Qcid = 20w + Bufer Base.



17.2 Buffers
How do they Resist Drastic pH Change

Buffer: 1M CH;CO,H /1M CH;CO,
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ers
' do they Resist Drastic pH Change

A buffer solution made from HF and KF has a pH = 2.84.

Addition of OH- will cause -

a) Increase or Decrease significantly b) Increase slightly
c) Decrease slightly d) Increase

e) Decrease
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17.2 Buffers
Identifying Buffers

Which of the following agueous solutions are good buffer systems?

/1 0.34 M ammonium bromide + 0.36 M ammonia
NHy* NH3

] 0.22 M nitric acid + 0.16 M potassium nitrate

Stromg atid
vl 0.32 M nitrous acid + 0.21 M potassium nitrite
HNO2 N0y
] 0.18 M barium hydroxide + 0.21 M barium bromide
Svaovq Gose
0.14 M hydrofluornc acid + 0.20 M sodium flu?ride
HF '
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